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Question Id : 2307492115 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
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Question Numbers: (1to5)



Read the passage carefully and mark the correct answers for the questions that
follow:

The word “adventure” embraces a company of great words. including
courage, tenacity. faith and selflessness. but its most potent ingredient cannot be
expressed in one word: 1t 1s the spirit that urges people to volunteer to undertake
hazardous tasks. for adventure implies the readiness and desire to embark on a

course of action that entails risk.

To evoke our admiration adventure need not be successful: it is enough if
the adventurer is impelled by courage.
Sub questions

Question Number : 1 Question Id : 2307492116 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
The writer’s definition of ‘adventure’ 1s

Options:

. indolence

, tenacity

. cowardice

diligence
4.

Question Number : 2 Question Id : 2307492117 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
An adventurer embarks on action and

Options:
dangers

N risk



5 failure
, success

Question Number : 3 Question Id : 2307492118 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

The passage 1s about

Options:

1 adventure

> faith

- courage

i selflessness

Question Number : 4 Question Id : 2307492119 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
The antonym of hazardous 1s

Options:

, isky
precarious
o

5 secure

, unsafe

Question Number : 5 Question Id : 2307492120 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
For an adventurer 1s essenfial.

Options:

, faith

, adimration



. courage

, Spirit

Sub-Section Number: 2
Sub-Section 1d: 23074987
Question Shuffling Allowed : Yes

Question Number : 6 Question Id : 2307492121 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Fill 1n the blanks with correct articles :

There 1s playground near my house. Within
hour we were 1n playground.

Options:

| @ an, the

N the. a. a

5 the, the, the

ot the. an

Question Number : 7 Question Id : 2307492122 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Choose the sentence with appropriate article:

Options:
, A teacher asked a student for the assignment.
, The teacher asked the students for therr assignment.

. A teacher asked the students for the assignments.

The teachers asked their students for their assignments.

Question Number : 8 Question Id : 2307492123 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 WrongMarks: 0
Fill m the blank with correct preposition:-

The brothers are always quarrelling themselves.

Options:
., between

5 within

. dnong

; mn-between

Question Number : 9 Question Id : 2307492124 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Fill in the blank with correct preposition:-

The monkey sprang the roof of the house.

Options:
, across

> 0N

. upon

4, over

Question Number : 10 Question Id : 2307492125 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0 _
The synonym of the word allure is:

Options:
. entice

, exaggerate

- endure

i €11011110US

Question Number : 11 Question Id : 2307492126 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 WrongMarks: 0
The antonym of the word Pragmatic 1s:

Options:
, I1tual

, secular

5 idealistic

, brecede

Question Number : 12 Question Id : 2307492127 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
W.B.Yeats made several to Indian mythology i his poems.

Choose the appropriate word from the following.

Options:

illusions
gk

5 allusions

. anuable

, Ingenuous

Question Number : 13 Question Id : 2307492128 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

We discuss the matter with the chairman tomorrow.
Fill m the blank appropriately.

Options:

1 will

, shall

5 would



, could

Question Number : 14 Question Id : 2307492129 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

These phones not be available till next year.

Fill in the blank correctly.
Options:
, would

o 7
- won't
- shall

N will

Question Number : 15 Question Id : 2307492130 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Fill m the blank with correct phrasal verb.

He me but did not acknowledge me.

Options:
. bassed on

passed away
Z. i
. bassed by

, bassed up

Question Number : 16 Question Id : 2307492131 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Choose the word with correct spelling.

Options:
, Audecious

, Audacious



3 Audaciuous

, Audicious

Question Number : 17 Question Id : 2307492132 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Fill 1n the blank with the most suitable word:

The Psychologist the truth from the patient.

Options:
1 elicited

_ illicited

. felicited

. collided

Question Number : 18 Question Id : 2307492133 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Choose the correct word to complete the idiom.
Dr. Samuel Johnson was a man of

Options:
1 straw

5 wisdom

y knowledge

i letters

Question Number : 19 Question Id : 2307492134 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Choose the correct form of Indirect Speech.

He said. “The film 1s very interesting”.



Options:

The film 1s very mteresting he said.
1.

He said that the film was very interesting.
z.

. He said the film was very mteresting.

The film was very interesting he said that.
4,

Question Number : 20 Question Id : 2307492135 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Change / choose the correct form of Active Voice.
The accounts are being checked by the auditors.
Options:

. The auditors will check the accounts.

, The auditors are seemg the accounts.
. The auditors are checking the accounts.

, The accounts are being checking by the auditors.

Question Number : 21 Question Id : 2307492136 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Choose the correct preposition from the following : -
The child walked her mother.

Options:
, beside

. besides
. with

by

Eiy -



Question Number : 22 Question Id : 2307492137 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Identify the grammatically acceptable sentence:

Options:
, Please see my certificates.

, Please look my certificates.

- Kindly check at my certificates.

, Please check my certificates.

Question Number : 23 Question Id : 2307492138 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
A physician who specialises in the treatment of cancer.

Choose the correct answer:
Options:

, Ophthalmologist

, Orthopaedist

. Oncologist

) Orthodontist

Question Number : 24 Question Id : 2307492139 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Add a question tag to the following statement:

You work in a bank.,

Options:

, have you?
, 1sn’t you

)
. do you’



, don’t you

Question Number : 25 Question Id : 2307492140 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Fill 1in the blank with the correct form of the word:

He gave me as much money as I

Options:

. need

5 require

= want

, heeded

rer1eral KﬂDWlEdgE
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Question Number : 26 Question Id : 2307492141 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
The Financial Action Task Force (FATF) has recently decided to keep
which country on grey list for failing to curb terror funding?
RDDO SETREOE DEISD BOBBEI0E, WANBO & DHODD O B
3 9 53 bowhbso Hrer),a0d aSRES éxn, PG(FATE)
DPODOTIE0DT

Options:



North Korea
| 685 Soase

Iran

£00m

2.

Pakistan

| BS

Syria

g F3lwlow s )

Question Number : 27 Question Id : 2307492142 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

Bahuda Rookery, which 1s in news recently. 1s the proposed Olive Ridley
Nesting Site of which state?

RS PE0E88 SO eswe tredo (Bahuda Rookery) e9& o0& oo

PEE0 & Tegos® Lod?

Options:
Tamulanadu
. 30T vtaD

Odisa
-, lsale

Kerala
- BOY

West Bengal
B0 BOTPD
4 TS

Question Number : 28 Question Id : 2307492143 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Simone Biles, who has become the first ever gymmnast to win 13 world
championship gold medals. 1s from which country?

HHOWD TPOBADS 1D BF 13 ¥ DB De o, Dok
250y ©0d P BH O LDPOE DOODa0T

Options:
United States of America
| ©DO5e

Australia
5 @fom HASTo

Brazil
, 826
South Africa
; 5o e9PHTe

Question Number : 29 Question Id : 2307492144 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Which tech giant has launched ‘Bolo” app to tutor children to read in
Hindi & English?

RB5e H B85 OHBO BP0 HoOCSD E}Dﬁ&] EROT0 RBOED
SRF5@D8 SRB0DD ‘BT BBHO B0 8D O0WOoO?

Options:
Microsoft
080

it e
Oracle

., B0BE

Google

4 HJe0d

Facebook
4 Po e05



Question Number : 30 Question Id : 2307492145 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Who has been appointed new Chairman of the National Commussion for
Backward Classes (NCBC)?

DBoBBD S50 eedad 52050 ( NCBCO) 598 DO,0 P D0
DA0DBIN 9ASTRBOT

Options:

Gegong Apang
; ORob ee0h

Suresh Mehta
N 08 BEI0Es0

Bhagat Singh Kosyari
_ 5658 Rob 9P

Bhagwan Lal Sahni
giaem eod Jedn
4 2

Question Number : 31 Question Id : 2307492146 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

Which international organisation has recently called for a total ban on
nuclear weapons?
€30 SAOGPOTO PP DNDOTROD & OBTHHBAD 0 285
D5HB0WoDT
Options:
Red Cross
, 86 5

Green peace

88 H%

B

UNESCO
- Suvein

UNO
5 m%m&%ﬁnﬁh@



Question Number : 32 Question Id : 2307492147 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Who has been conferred the Ashoka Chakra for the year 2019?
od%5 55 )00, 2019 &% DD 658, 0BT

Options:

Dinesh Raghu Raman
. OB U§0 Tos0®
Nazir Ahmad Vami
0286 eos®.B DO

Abmandhan Vardhaman
e9EIDOL™ a‘SgEﬁﬁ%

Takht Singh
35 B06

Question Number : 33 Question Id : 2307492148 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which of the following states have emerged as top performung states in

NITI Aayog’s SDG India Index 20187
88 800 Uopod® HA b B, SDG molasre koads 2018

% HD @Q@gfﬁo@g DE-e3e0007

Options:

AP. Odisa & Himachal Pradesh

BOGBHES, exBdp SO ERD0SE HBS
1.

UP. Kerala & Assam

SB35 HAS, BBY HoOGZ0 RO
2.

Himachal Pradesh. Kerala & Tamulanadu
_ Booesd DOS, BOY HOOASN BROHDER

Arunachal Pradesh. Rajastan & UP

, OOERSE HAE, BN BN GG HBS



Question Number : 34 Question Id : 2307492149 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
What 1s the name of China nussion launched to the far side of the Moon
recently?
=fbe SoEds DS D) BDoe BABIHODD DD DONB?
Options:
Chang ‘e-4°

. 0004

Tang ‘e-9’
,  GOO0-9

Kariman
55,0

Lunar — 4
evoed — 4

Question Number : 35 Question Id : 2307492150 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0
Which of the following cities is the venue of the 24® UN Climate Summit (COP24)?
B8 8o DOFH, D DHV0H8 245 ANIBE JHF 20 HOF, e P H (COP24) Ha:y sodosd?

Options:
Ottawa
a:-é@a")

Reo D1 Janaro

” O & BHEP

Brasilia
erdade



Ketowice
B

Question Number : 36 Question Id : 2307492151 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

The UN Food and Agriculture Organisation (FAO) has decided to
Observe which vyear as the International Year of Millets?

aSn3BE 55’3@ D& @08 @d50b esiIE[O (DDDHE) D DODBTORY,

©0BTHEGHD DBOPTRE (DB HoDBBO R HOBDOTOD
DHO0OTBI0OT

Options:

| 2021
, 2022
2023

2024

4

Question Number : 37 Question Id : 2307492152 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

India’s 1* environment friendly bio— fuel powered flight flew between the
following two cities:

GROBEE0 GB0E, DOHBHE DTADVED SHVETO LD ROGD SGPROS
DHTHH0 B8 BOO DR H0G, HASTHBODOD?

Options:

Dehradun and Delln
| BipErS Hoasn G

Delhi and Varanasi
, &8  D0OCS0 TeLEsTR

Ahmedabad and Varanasi

: e9530,c0e308 B0OAS0 &eleat



Dehradun and Agra
, BERGRS BoOAS0 eTR

Question Number : 38 Question Id : 2307492153 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

“Mission satyanishta”, 1s a progranume on :
DOND DBDD’ I TG BH00 88 oD D8 BDE HOBODODDOT

Options:
Ethics m Corporate Governance
| TPEROE 6553 6° 0§

Ethics in International Relations
5 @Détﬁ:g@cﬁa DOOGRe &8 DS

Ethics i Public places
D6 DA &° 0H§

3.

Ethics m Public governance

Do Pod &° oph
4

Question Number : 39 Question Id : 2307492154 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

Tx2 programme aims to double the population of one of the following:
Tx2 o0d 5p0.5500 800 aBE8 25D 380 BaS@eR)

OB, s00° DENB0O.

Options:

Olive Ridley sea Turtle

5D Ol DHVE edlen
L

Tiger
2 B

Tiger Shark
, OO pb,



Tiffany Cat
» Bpd 5265

Question Number : 40 Question Id : 2307492155 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

PAKYONG airport 1s located in which of the following states?
PR,06 dEPTeFao B8 Bow DD & Tego &8 Lod?
Options:

Meghalaya
. B0PHTeC3T0

Arunachal Pradesh

e0ER IS DS
2.
Sikkim
o
5 08,0
Manipur
, 0BHPE
Teaching Aptitude
Section Id : 23074974
Section Number : 3
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions; 10
Number of Questionsto be attempted: 10
Section Marks: 10
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 23074989
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 2307492156 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0



Broad statement of instructional intent used to describe general purpose
of instruction 1s known as

DD B¥HD DOT) HOBEN0M0 HYOTH Aoeeda 59 HOBEH

Options:
Informational Objective
DRIl €aG)da500
L]

Instructional Objective

eS8G55 B0

Educational Goal
3 -
Specific Objective
P B

Question Number : 42 Question Id : 2307492157 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
The use of a wide variety of instructional materials will
5 DD, B s, DDABIAC TN

Options:
Distract the attention of students

. ch%tﬁg@ @%H) Eﬁ)%@f.ﬁozﬁa

Serve as a lesson stimulus
@B&% i}tﬁé&ﬁ}}f‘? HDODAI00E0
o)

Confuse the students

a@ﬁti)e::-n“‘b SeData
3 P =



Be harmful

, SERDBBBD

Question Number : 43 Question Id : 2307492158 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

In a teaching - learning process. questioning is important to developing

e5%¢@0eS 0 DBAS?, HBOTEBO HYY HBDP.OTP BDD DOIODOTIHTR P

Options:

Reflective thinking
ONAVOPOTID AdITID

Metacognitive thinking
doepes,835 (Metacognitive ) ABoeess

Creative thinking
QYBDB, 5 @S5 SH

Reflective and metacognitive thinking
DAVOLPODD OGS0 Wworpwes,Sst (Metacognitive) G3reess

Question Number : 44 Question Id : 2307492159 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
In the following method, activities are carried out with little or no
guidance:

800 HRAES, BPOTR Bow H HIBHE,58::500 S5 SIG LX) TIDEI0 :
s o o o =5 aa
Options:

Computer integration
| BouR®E Dosedwn (Integration)

Independent Study
, M5B0S {5000



Mastery learning
5 SDDES, IOV

Individualized mstruction
080588595

Question Number : 45 Question Id : 2307492160 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
A diagram of key concepts and their relationships:

BoogERDHen S0DA50 T HOROGReRD D DD :

Options:
Mind map
| 0GP DS

Concept map
, ERDDID0

Graphic Organizer

Baposoty DB

3

Flow chart

. 2200530 ‘a0

Question Number : 46 Question Id : 2307492161 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Questions that exanune the validity of an author’s arguments or discussion:
BE50008 @eENen Bae PO DHTEIBIN WYHBED0TH Dden
Options:

Critical questions
DG,TBE Defe0

Connective questions
DOCOIBE DEED
2. N



Evaluative questions

. S0TPD05H DGO

Comparative questions
SOOVOBE DHE0
4

Question Number : 47 Question Id : 2307492162 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
The full benefit of experiential learning 1s provided in
5PE) HRPBHEOEPID B0EITE,S ELHDD0 HDS® HowIDO :

Options:
Problem — based learning
VRGOS 9GOV

Cooperative leamning
TS 983,750
2

Case Study Method
| BB opo00 598

Service learning
DD gL 00
4

Question Number : 48 Question Id : 2307492163 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

It facilitates ‘collective decision — making’ through an open-mindedness
by encouraging and recognising multiple views of the learner:

DTS PHNEF eI EDD DS HOCS0 SERHED L0y

@SSO RO HRG DLASTD SO5005) 000 Feedsi0D wCS0a0D

Options:
Constructivist approach

| O@ERSE @000



Critical pedagogy

DE0V,008,5 590,500 B0, 00
2,

Inquiry approach

DTIPIED Geod ToDaI0
3.

Analogy strategy

, PO, DR

Question Number : 49 Question Id : 2307492164 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Name the step of the 5 E-learmming model ‘when students share their
experiences from their daily life about the concept at hand’:
‘amy%ma@QﬁﬁéﬂE%%@qﬁﬁﬂ%ﬁkﬂ@@@ﬂéeﬁnﬁﬁ@éjm%
éaéaﬁﬂﬁ%aédmﬁﬁﬁﬁéﬁﬁﬁﬁfEﬁmﬂﬂ5E—@%ﬁé
Da0T0H8D O DD :

Options:
Engage
1_&@9&53

Explore
DOEPOR0

Explain
DDVEBDND

Elaborate
DIHBOOb

Question Number : 50 Question Id : 2307492165 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
‘Just-in-time teaching’, an mquiry-based method 1s a type of

‘BB, B%50" ( Just-in-time teaching) eswdo Deptesogpos
HED 8 BOO HEDD :

Options:



Problem solving
“aaa’)a&‘% DOaf, B

1.
discussion
w0
g
Daily Quiz
QOO POV
a_ s al
=3
Mind dump
S0P
4,
Mathermatics
Section Id : 23074975
Section Number : 4
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 100
Number of Questionsto be attempted: 100
Section Marks: 100
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 23074990
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 2307492166 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

- IT” .
Ify=sm(ar+b),then <£X-
dx”
— I
y = sin(ax + b) eonss))e, I = =
ax

Options:



—

T T
a" 1.5111((!:':‘ +b +T]

"

n
a”coﬁ[a:r+b+7]

P nw
a” 131H[nx+b+?]

; nT
a” 5111(m+b ‘& 5 )

Question Number : 52 Question Id : 2307492167 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

. i L il
If y=sin"x_then (1-x")—==
ax”
st i 2 ﬂﬁT
Y=Sll X, evooods)do, (1—x7)—5=
dx”
Options:
%)
x IR Y §
dx
-
L
5 dx
dy
X—
dx



(x +1)fil:

X

Question Number : 53 Question Id : 2307492168 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0

Coefficient of x? in the Maclaurin’s series expansion of y = log secx 1s

y = log secx B8, B=ROS DHBEadd - GB00S, (DESE00

Options:

1

1.

2 | =

o

Question Number : 54 Question Id : 2307492169 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

ou cu
=+ =

. Ot
u=log(x +v' +2° —3xz) then —+
If log(x* +3° + : . =
& 4

o on o
i=log(x’ + 3+ 2 —30z) @b —+—+—=

ox &y oz
Options:
3
X+ yV+Z
1,
3
Xt y +=



x+yv+z

=
4
.T-|-‘1.' +Z
4

Question Number : 55 Question Id : 2307492170 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

v 3 g ou ou ou
It —=J.1"+,1"+: then &t @ ~¥z_=
u x "oy &z

1 — ou ou o
—=Jr?+17 427 eowdD)E T—+)—+Ii—=
i & "oy oz
Options:
1
1,
" -2u
-
)
.
4 LU

Question Number : 56 Question Id : 2307492171 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

If u=f(xy). x=¢@). y=w() rheni:;z
|
U= 3 x=gr). v=y(t) eond)E %:
[

Options:



2z ax +£

dr dt
1.
o d1'+5'u av
5 ox dt v dt
o dx Ou dy
& dt oy dt
3.
dx v
dt dr
4.

Question Number : 57 Question Id : 2307492172 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

. l—cosx
Im——=
x—0 51‘*

Options:
1

i
2

1.

I

Question Number : 58 Question Id : 2307492173 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Fora=b=0, ]jmﬂz

x—s0 x
i s . & —=H"
a>b=>0 =, im— =
x—0 x

Options:

log b
1.

log a
2

‘a

lﬂg[ —

i \b

Question Number : 59 Question Id : 2307492174 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

i i TX
lim(l —x)tan—=
x—+ i

Options:

8

T

H | o

= |’_.-|‘|

o |



Question Number : 60 Question Id : 2307492175 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

. ; 1
m(a" +x)* =
x—+{

Options:
HE
2
1.
2
e
2.
3 ae
a
(24
4

Question Number : 61 Question Id : 2307492176 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

The radius of curvature of the curve y=e*at P (0.1) 1s

P(0.1) 5 y = ¢* od 55208 5o DRARBO

Options:

Question Number : 62 Question Id : 2307492177 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



The asymptote of the curve »*+3° —3axy=0 1s

V7 —3a =0 ed HTpO8 50 DB, O
Options:

12x+y+3=0

xtyt+ta=0
2. ’

x-v+a=0
i :

4 x+2y+a—0

Question Number : 63 Question Id : 2307492178 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

Which of the following straight lie 1s not an asymptote of the curve
v (x-2)=x*(y-1)?

88 806 HOAED HEEOPESS v (x-2) =17 (v- 1) 5208 edoes
08,08 00 HOP
Options:

y-1=x

1.

]
Il
-2

e~
I
Ll

b
I
[ —

Question Number : 64 Question Id : 2307492179 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



fu=f(y—= z—x, x—y)then e
i . 5

u=f(y—= z—Xx X—J)e00di)Eo f'_*‘f+ﬂ+@:

ogx ov o=

Options:
1 1
Z O

3
3

11
4

Question Number : 65 Question Id : 2307492180 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

Stationary point of the function = =" —3xy 437 +2x 1S

=17 =3+ 17 +2¢ @ HIA0E) SRDBEOEIE)

Options:
e
5°5
.
%)
5°%
3
3 4
55
3.
4 3)
55
4.

Question Number : 66 Question Id : 2307492181 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



The maxmmum value of xyz such that x + v +z=151s

Xty +z=15 edd o Xyz s, (0 D

Options:

45

Question Number : 67 Question Id : 2307492182 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0

y=ae™ +bxe™* (where a, b are arbitrary constants) is a solution of
the differential equation

a, b en aSegy@s %ﬁmr&)@ma’)@é} v=ae +hye”" &0 DoPHOTR
5D D500 HOIBGRO.

Options:

V=4 +4y=0

1.
¥ +4y —4y=0

2

5 WY —y=0

4 4y"—y'—y=0

Question Number : 68 Question Id : 2307492183 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



The general solution of the differential equation /1—x*sin™ x dv+1dr=0 1is

ODB5OD HEIBOBLO  V1-x sin” x dy+ydv=0 C30G, PEsEs D

(Here C 1s arbitrary constant)
V56 O eb ASIgyO5 ngcmra

Options:
W s A
xsm y=C

ysin'x=C

3 ysmx=C

veosx=C
4,

Question Number : 69 Question Id : 2307492184 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

il

Options:
xdx + vdy
L
xdy — ydx
Ay
z.
xdv + vdx
L
=
xdy — vdx

X—F



Question Number : 70 Question Id : 2307492185 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

The general solution of the differential equation xdv— ydy=xydx is
xdv—yvdy =1 dv o3 eD5eD OHSDER) APGRDE ARGW

(Here c 1s arbitrary constant)

(R5,6 C a5 aSrs YOTe3)

Options:

Xy —2x=2cy
i
, xy-—2x=cy

xly +2x =2cy

- P
X—Y¥ —€
4. v Y

Question Number : 71 Question Id : 2307492186 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
An integrating factor of the differential equation 2xy dy—(x" + 1" +1)dx =0 i3

2vvdr—( + 17 +D)dv =0 o 550D HHSGRY) b HEIPSOD (S0

Options:




Question Number : 72 Question Id : 2307492187 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

The general solution of the differential equation xlogx—+ v =2logx 18

dx
(Here x = 0)
xlog .1:?-1—‘1': 2logy @9 @5Be® HEBOHY) D (a5,é X = 0)
e

(Here ¢ 1s arbitrary constant)
RE, & ¢ &5(fﬁ$%§$§%ﬁkﬂﬂ
Options:
vlogx=(log ) +e

, logx=ylogx+c

5 logx=x+v+c

4 logx=x—v+c¢

Question Number : 73 Question Id : 2307492188 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
The general solution of the differential equation (x* —4v)dx+ (1" —4x)dv =0
HBOD ORBBRBO (v —41)dx + (17 —4x)dy = 0 GB0B, esEs D
(Here ¢ 1s an arbitrary constant)

RB B ¢ 85 cﬁiﬁ@@.}é ngﬁc:ara

Options:

3 3
x +12xy—y =c
i

3 . 3
X X +H12xv+v =c

. © 12004y =c



=2y 3 =€
4

Question Number : 74 Question Id : 2307492189 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0

If p=2" then the general solution of the differential equation

dx
N pl+sap+6y° =018
ﬁ]' ’ 5 5. 73 2
p :fi 000D DB o&ostee0 X pT+Sap+6y =0 Cﬁl?ég. RGP0 R
dv

(Here ¢ is an arbitrary constant)
REG ¢ &5 AR5 %}tﬁtﬁ«ﬁ

Options:

V' +x—)(y’ —x—c)=0
0% =00’ —)=0

(y+x—c)y—x—c)=0
, W+ =)-x-c)=0

Question Number : 75 Question Id : 2307492190 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

The singular solution of the differential equation y = px—p°, (Where p= ;1—1 ) 18
»

D50D B0 V= pr— pll[eq\%&cﬁ )2 :%}CB&)E‘E_ DOBED oD
£

Options:

3 244x=0



_1‘] —4x =0

2

- 4y =0
S5

e 4y =0
4

Question Number : 76 Question Id : 2307492191 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

The orthogonal trajectories of the family of curves y=ax". where a 1s
a parameter, 1s

a HDTPDOB WOVDVE), 1 =ax" 9D DT B0 DO FHOFIEIENED

(Here c 1s an arbitrary constant)

R5, B C 5 Cﬂ)at%'c%é %tﬁmﬂ

Options:
. A=Y =¢
¥ +ny=c
>
x+ny*=i¢
o

) x+ny’=c

Question Number : 77 Question Id : 2307492192 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



The general solution of the differential equation (D°—7D* +12D)y =0

[ where D= i) 18
: dx

550D D80S0 (D' 7D +12D)y =030, GosEs D
d

dx

(a5 e D=—)

(Here ¢,. c,. ¢c5 are arbitrary constants)
&8 €1,Cy, C 5 oo
525& 1 C3 @0 cﬂﬁt%-(_% X e

Options:
3 4
Y=titeE toe
1
-3 4
y=citoe  +oE’
2
-3
y=c+c,e " +ce
3.
3 4
y=ectce " tge”
4

Question Number : 78 Question Id : 2307492193 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

A particular mtegral of the differential equation (D° —1)y=5x+2 1s
[where D= r—‘F]

ax

550D HHBBPLO (D' —1)y=>5r+2 BwE, HBE HDHRSOD

d
( Eiégté D=—
= dx )
Options:
] -5x -2

-2y —35
i



S+ 2

Question Number : 79 Question Id : 2307492194 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
3 | { WL

D’ +4
Options:

=
—COsS2x

Question Number : 80 Question Id : 2307492195 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
1
- W=
1Y-—=2+1

Options:
e
3




5 B

Question Number : 81 Question Id : 2307492196 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

The general solution of the differential equation (x’D* +xD+4)y=0 is

550D HEBBBO (1D’ +xD+4)y =0 CB0E, GRS D

(Here ci. ¢ are arbitrary constants)
" o
/G, & Cy1. C2, @0 cﬁﬁc%t_?ﬂé rgﬁmé}m

Options:

3
y=ge tee"

1
y=¢,cos(2logx)+c, sin(2logx)
v =c¢ cos(logx) +c, sin(log x)
3.
V=ccosx+c,sinx
4,

Question Number : 82 Question Id : 2307492197 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

The complete solution of the differential equation = A : % — 1S
y =x 2x—3y

D & o essen HHS50E) DO D

¥ =% I3y

(Here ¢,. ¢; are arbitrary constants)
o,
RS, & C1, C2. @0 RGOS QOTED

Options:



3 o 2
X —y =¢q, 3x—-2y—-z=¢,
2
3 ) -
Y —¥ =, Ix—2pkg=¢,
3 1 -
] o B
X-+ Y =g, IXFTiy+I=c
4,

Question Number : 83 Question Id : 2307492198 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

The partial differential equation obtamed by eliminating the arbitrary
constants a. b from z=(x—a)’ +(v—5)" 1s

z=(x—a) +(y—b) ook a,b oso %o BaSrR ePocHd JFBS
D500 HSIBBBs0

Options:

1.
(&3] -«
ox 631'},
2 :
SIS
cx cv
3.
-y 2 - 2
(Z) | Z] -2
4.

Question Number : 84 Question Id : 2307492199 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



The partial differential equation obtained by elinunating the arbitrary
function f from == 7F(x* +1%) 1s

2= f(x7 +37) Boo® aSreays paoaio f @ SoHBae 0ot
FPBE @DB0D HEVBLE0

Options:

(5

Question Number : 85 Question Id : 2307492200 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

The general solution of the partial differential equation
Oz e
p tanx + q tan y = tan = (where p = o 04 = ) 1s

-

p tany + q tan y = tan - e BS &% ooy S eSEOD HEBGEH)
oz oz

& e5ts (p=2, 4=
PHD 85 (p P =

(Here ¢ 1s an arbifrary constant)
(RS, 6 0 25 ASPGYDS PANA0)

Options:



SIN X S1
i

sin ¥ sin =

sin x = g(sin v)

sin v = ¢h(simn z —sinx)

sin2x = ¢@(sin y)

Question Number : 86 Question Id : 2307492201 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

The complete mtegral of the partial differential equation p=e?

-

oz oz,
where p=—, g=—) 15
ox oy

' - By o 0z
p=é O] PEE ©5ED HEOBGH)) BOTPY WD ( RSB P=—"14 =—)

(Here a, b are arbitrary constants)
25, a,b eo AR DS %6@6}@3

Options:
] 2
z=x —by
1.
b
z=ax+—
i X
z=ax+yvloga+b
3
a
z=—+yh
4, 1

Question Number : 87 Question Id : 2307492202 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



The general solution of the partial differential equation

3 : c d
(EDE +5DD'+2D")z=015 (W]lrﬂ'e D EE.D’ = TJ
I ] G:'l"

(2D’ +5DD'+2D")z =0 & BS e550® HEEORR) GRS Dot

RS, t [IDEE‘DIEE]

v &y

(Here are ¢.¢, arbitrary functions)

(25,88 ¢4, @0 aSIGyOS Haoasmen)

Options:

z=@2y—x)+¢(y—2x)

18
T= RO+ ()
z=@(v+x)+xg(v+x)

53

; z=@(y—2x)+x@h(y—2x)

Question Number : 88 Question Id : 2307492203 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

1
(bD—aD')"

dlax+byv) =

Whrere D=—_D'=

c

:p|'::0

Options:

" (n+1)!

= Plax+by)



xn!

= @(ax+bv)
z.
:‘_J"I
I Plax+bv)
= :
" p(ax+by)
i b'n!

Question Number : 89 Question Id : 2307492204 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

1 Ity

2 2 €
D +DD'-2D'"

4 o %
Whrere D=—,D'=—
ox ey
Options:
1€x+l1.'
4
1
iEI—ﬁ
2
2.
l E?_I+.'|.
3 3
iEI—'l
5
4,

Question Number : 90 Question Id : 2307492205 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

The solution of the partial differential equation 3u, +u, =0 where #(0.y)=5¢"" is

1(0.) =5 @00BY@E 3, +u, =0 O B @HSOD DB oG5



Options:

u(x, v) =5

u(x, y)=5¢""

u(x, v) =5

u(x,y) =56"%

Question Number : 91 Question Id : 2307492206 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 WrongMarks: 0

Which of the following 1s an imncreasing sequence?

58 308 6% e8Fzoemod 5200 HOT

Options:
x, =— Vrzl
i
1.
1
Y, =— V=1
5 n +1
—1
x,=— ¥nzl
i
3.
x =+l ¥nzl
4,

Question Number : 92 Question Id : 2307492207 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



1 .
If x=2 x_,=2+— V¥ nzl then limx =
‘Tn X—¥x

1 ;
=2 x,=2+— Vnzl e@cnda) hmx, =
‘Trr i
Options:
1-3
1
1442
2
1+43
3
1-+2
4,

Question Number : 93 Question Id : 2307492208 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Which of the following 1s a bounded sequence but not a Cauchy
sequence?

83 808 &8 DHOBE) SDBI0 )0 558, 90500 DO DT

Options:
X,=— Vn=
n
1,
n+1
= Vnzl
7
2
x,=— Vnzl
7
z

x.=(-1)" Vnzl



Question Number : 94 Question Id : 2307492209 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
5 . T S : -
H o= 5111[TJ then the limuit superior of x =

o

x :m{ﬂ} ©0NBHE 1, B0Y, SHH O5E

L]

Options:
3
2
1
3
2
z.
1
2
=,
1
2
4,

Question Number : 95 Question Id : 2307492210 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

H x ==Y [ 1+1} then the linut inferior of x =
i1

5 ={—1}”[1+1] SonDDE ¥, CBoos, DY G5

H

Options:
-2
1.
/4



Question Number : 96 Question Id : 2307492211 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

o 1
= (m+1D(n+2) a

Options:

, 3

Question Number : 97 Question Id : 2307492212 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

_l

The series z

:"11Flr

is convergent if @ =

36 Z a’::-ﬂﬁﬂ a=

HIH

Options:

1

-3

Lad



Question Number : 98 Question Id : 2307492213 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Which of the following series 1s convergent?
58 808 &8 PHOOT BB HOP

Options:

..
i%iu{iJ
=1 n
g
= 3
‘”Z=;'FF+3
2.
= 1
; J}?—I— n+l
4.

Question Number : 99 Question Id : 2307492214 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

\_“E
. 1
11111[ 1+—= =

-

Options:
4

1. =
3
e



L [

[—

Question Number : 100 Question Id : 2307492215 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 Wrong Marks: O

Which of the following series 1s absolutely convergent

83 B80® TBES HOPTRLIDLR0 BOD B HOT

Options:
= (—]]”H.H
.,Z=1: n +1
1
n+l
=41
; n+l
2
n+l
e
; n®+1
3
. n+l
o {_1)
\ ;JEH

Question Number : 101 Question Id : 2307492216 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

The ‘¢’ value of Lagrange’s mean value theorem for the function
f(x)=2x"-7x+10 on|[2, 5]is

[2. 5] @0B506° f(x)=2x"-Tx+10 e HB0A5RDS BrRod S Hase,

o A ' 3
OEPOBY) C DEVD

Options:



(S8

2 | =2

2 | e

2 | o

Question Number : 102 Question Id : 2307492217 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 Wrong Marks: O

The envelope of the fanuly of straight lines ycose+ ysina =a where o 1s
a parameter

0 @0 DHTPDBR 58D HOYE Gepe Botnoean veosa+ vsina =a
CBDE, SDOHBS

Options:
XTy—4
2 2 2
X —Vv =a
2
¥, 2
X+ 3y =a
3
2
X—y =i
4. -

Correct Marks: 1 WrongMarks: 0

Question Number : 103 Question Id ;: 2307492218 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



For which of the following functions Rolle’s mean value theorem
1s applicable?

58 808 RYD HaoaSReS? B8 8 ogaH a0y, HEROS00
&B0DDO0TS 0T

Options:

Jx)=|x|on[-2,2]

f(x)=x*-3x on[-3,3]

2.

f(@x)=1-|x1|on[0,2]
3.

f(@=-1° on[0,3]
4,

Question Number : 104 Question Id ;: 2307492219 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Let f:RR be a function such that | £(x)— (3 |<(x—y)* for all
x.yeR then

£:R > RSB HBoaso, $8 x.yeRBo| /(1) /()< (=)
©ANDEPHOP &Bigy00s
Options:

fx)=x V xeR
1

f(x)=x V xeR
2

] f(N=x"V xeR

f()=kV xeR (Here k 1s constant)
odreR (=56 kas RTe050)



Question Number : 105 Question Id : 2307492220 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
47
[x]dx =
[\
Options:

3.8

1.

5.8

2.

8.8

o

6.8

4.

Question Number : 106 Question Id : 2307492221 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

x+1
Let f:R - R 1s a continuous function. If for xeR F(x)= [ f(dt
x—1
then F'(x)=
x+l
fROR ab oD@ paoavo, relR, B F(x)= j f(1)dt e@onBHE F'(x)=
x-1
Options:

f2x)—f(x)
. fix+1)—f(x)
. J&®—f(x-1)
, S(x+1)—fx-1)

Question Number : 107 Question Id : 2307492222 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0



2

If || «"sin®(e")dx|<4 then A=

2
I
2 * . F
2 sin’ (e")di| € 4 eond A=
O
Options:
167°
3
1.
87’
3
24
ar’
3
=,
127°
3
4.

Question Number : 108 Question 1d : 2307492223 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

Which of the following sequence of functions converges point wise on [0.1]?

[0.1] eoa850 D B8 Bod RDEBD DAB0C5IE BSOS BI0LIBID
92000 OO DHOT

Options:
Ex)=a" ¥ nzl

1

fn{x} :M Y n=l1

o Fl



() =x"(1-x) ¥V n=1

f;q(x)zng.t'"(l—n‘)i v n=>1

Question Number : 109 Question Id ;: 2307492224 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

If the sequence of functions {f,} 1s defined on [0, 1] by

f {x}:;ﬁ ¥V n 2 1then im f (x)=

= 1+ (nx—1) n—ye

[0. 1] mo860% Haooswe edossoo iIf ao fﬂ{x}zﬁ
+ (nx—1)°

Vun2loe H)tﬁcﬁﬂﬂﬂ lim f, (x) =

n—m "

Options:

fx)=x"-1 ¥ xe[0,]]

1.
f(x)=1-x V¥V xe[0.1]
2
1
fx)=12" =2
10. ye[0.1]
3
f(x)=x ¥V xe[0.1]
4

Question Number : 110 Question Id : 2307492225 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



If Lf(x,}_zr‘;{f';” for all x e [g 1%} then f'(x) =

n=1

7T 11z COS Y
xE 50 )= — oo [(x) =
1 L:. 6} i %m- D f'(x)

Options:
i 21 COS HIX

P 141

i 1 COS 1Y
e

= ].+ i
2. i}
i — 1 S HIX
= 1+ n
3.
i 718110 FIX
==
n=l i
4.

Question Number : 111 Question Id ;: 2307492226 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

The number of binary operations defined on a set containing 4 elements 1s

4 50000500 HRAD DO;DOTHDT Ad08, DOE0e ﬁ’no%

Options:

412

1.

43

2.

,_1_16



44

Question Number : 112 Question Id : 2307492227 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

; , " b
Let * be the binary operation defined on 0" =0—{0} by a*b =ﬂT

vV a.beQ" then the identity element 1s

0" =0-{0}

-

PeY

o E? %
¥ 963 C500L, DOBSED a*a&:% V a.beQ

% m%m@, HH0 BAPOBO

Question Number : 113 Question 1d : 2307492228 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

—

If the centre Z (G) of a group G 1s such that % 1s cyclic then G 1s

85 DomER0 G Bws, oo Z (G) ex)sm Z(GGJ 58090 @ons @H,E G
Options:
Cyclic
w8ao

1.



Abelian

B0
2|
Z2(G) %G
Non abelian
OBOA0DD Tt (DDHIAO TBE)
4

Question Number : 114 Question Id : 2307492229 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Let G be a finite group and H. K are any two sub groups of G. If [H| =17,

IK|=31 then |H nK |=
G e85 DO Desand s00as H, K en G 8 6000065808 esainSPaioain.
H| =17, |[KIF=31 eocwda)a |HnK|=

Options:

9

14

Question Number : 115 Question 1d : 2307492230 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

Let G be a group and a.b € G then which of the following statements 1s false?

G 28 H00Ee0 O  d.0 € G oD B3 8o HHSTOE? HO
@S5 ( Do B0 7)

Options:



o(a)=o(a™)
5 o(ab) = o(ba)

o(a) = o(xax!) forall xeG
O» xeG8

; o(ab) = o(a) o(b)

Question Number : 116 Question Id : 2307492231 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

Let G be a cycelic group of order 360. Then the number of generators of G is

360 & BB6dR 58D BE0% HHeio G MBE, B Soeesee HOo’Y,

Options:

98

1.

96

z.

94

>

92

4.

Question Number : 117 Question Id : 2307492232 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Let G and H be any two finite groups such that ged (|G
the number of homomorphisms f:G— H are

, H[) =1 then

‘]

osaeer (|G, [H)) =1 ecdy, dgore G.H oo H0508 Haomimed eo8Poao.
KB [ G — H By, DHOmP GoG Haobndée Hos,

Options:



Question Number : 118 Question 1d : 2307492233 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

Let R"=R—{0}, C" =C-{0} denote the multiplicative groups of non-
zero real and complex numbers. If the homomorphism ¢:C" - R"is
defined by ¢(z)=|z| then Ker ¢ =

R =R—{0}, C'=C—{0} o0 5t000» &oa,88 aosd So0asn H088 Hope
5065 HH000TBOHD HIPORADHE0E. ¢:C - R &d H0E0es0
d(z)=|z| ™ DB;On Ker d =

Options:

-1 -1

1

21

24

{1, +i}
| {1+, 144)

Question Number : 119 Question Id : 2307492234 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Which of the following statements 1s false?

538 308 HODTOSHE HO DB FO?

Options:



Aj 1s an abelian group
Az a8 0BOcH® HadTeseo

Product of two odd permutations in S, 1s again an odd permutation
S, &8 Bowd &R Haroee oxo B0H Bl HIVO ©)H0O

2.

| 8a [=n!
%

There exists an element of order 20 1 Sq

Se 68 208 S5HRATP O DITOB0 Kgﬁé%éﬁn 959000
4,

Question Number : 120 Question Id : 2307492235 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
In the 1ing (Z 5, +4. %45) , 39 X427 =

(Z4p-+ag- X45) @D DOADOHS 39 x,, 27 =
Options:

13

1.

Question Number : 121 Question Id : 2307492236 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Which of the following 1s not a field?

58 Bo® a0BS% Z8500 OO HOP

Options:



@ , the set of rational numbers
0, e85Ba% Hogp, HIS

& . the set of real numbers
R, 30055 dogn, D0

Z.
Z , the set of all integers
L, 8PY Hoge DB
3
C, the set of all complex numbers
) i ﬁoég 008 HOB

Question Number : 122 Question Id : 2307492237 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Let X be any non empty set and P(X) be its power set.
Then 1n the ring (P(X).A.n), the zero element and the 1dentity are
(Where A denotes the symmetric difference 4.Be P(X) AAB=(AUB)—(4ANB))

X 980 0B85 H30d ed, P(X) ood s 5208 eb
@HB0EH0D0. HOAVO (P(X).A.N) &8 &b, soseeso,

BB50 DT DO (RGB A FPHD Pl DB,
A4.BeP(X), AAB=(4UB)—(4NB))

Options:

X. X

1.

6. X

2.

3 X8

9.9

4.



Question Number : 123 Question Id : 2307492238 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

The number of subrings of the ring (7,,.+,. %) 18

(Lggstigs %1p) DOASTIDE 150 BDDHOASTIO DO,

Options:

1

Question Number : 124 Question Id : 2307492239 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 WrongMarks: 0

The characteristic of the ring 7, X Z,, 18

Lg X Lyy O HOO0 eRBHBBS0

Options:

&4

1.

Question Number : 125 Question Id : 2307492240 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Which of the following statements 1s true?

858 8080 pODeod® HB DB0T

Options:



If I, J are any two 1deals in a ring (R, +, -) then I U J 1s an 1deal of R
(R.+. ) Doa%0068 [, ] en Botd estto,en @ocnd 1 U 5506 a5 eit,508)8000

Every subring in a ring 1s an ideal
OB HOC500 CBNG, DA GHIOAD0 BEHT,50a)B00D

Every ideal 1n a ring 1s a subring
DD HOCD0HT HA BG,0 - 8B GRDOA0 B0

Every integral domain 1s a field
DB HPLOS HBB0 FBH0)B0D

Question Number : 126 Question Id ;: 2307492241 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 WrongMarks: 0

In the vector space R’(R) , which of the following sets is linearly

Independent?
B (R), eodd t6&P0oSTEOSS, 53 806 /YD DS ey F5BOFH, HROB HOF
Options:

Ar={(1,2,0), (0,3,1), (-1,0,1)}

1.

Ar = {(1,2,3), (4,5.6), (2.4,6)}

2

As={(-1,2,1), 3,0,-1), (-5,4,3)}
. A= 1{(123).(1,00), (0.1,0),0,0.1)}

Question Number : 127 Question Id : 2307492242 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



If (3+441, 61, 3+71) = a(1,0,0) + b(1,1,0) + c(1,1.1) then (a.b,c)=

(3+44i, 61, 3+71) = a(1,0,0) + b(1,1,0) + ¢(1,1,1) evonodsiyiso (a,b,c)=

Options:

(3-71, 3+1, -3-1)
1.

(3421, 3H, -3-7i)

=

] (3-21, 3-1, 3+71)

, (321,34, 3+70)

Question Number : 128 Question Id : 2307492243 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

The dimension of the subspace W= {(x;. x3, x3, x4, X5) / 2 x; +x3 + x5 =0 }
as a subspace of the vector space R’(IR)

R(R) e d@aeosoedod® W = {(x1, x2, X3, X1, X5) /2 x1 +x3 +x5=0}
D) €BSPOBTY HODIPEI0

Options:

3

4

2.

Question Number : 129 Question Id : 2307492244 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Let 7:8°(R)— R*(R) be the linear transformation defined as
T(a, b, ¢) = (2b +c, a-4b, 3a) then the matrix of T with respect to the
ordered basis B = {(1,1.1), (1,1,0), (1,0,0)} 1s

T:R(R)— R (R) &d eover 055000 T(a, b, ) = (2b +c, a-4b, 3a)

™ dYgDowe. Bao epeso B ={(1,1,1), (1,1,0), (1,0,0)} e,
T B0, 5085

Options:

P

3 3
[Tl.=] -6 2 1
§ 3

% 3 3
[T],=|-6 <6 -2
& § =i
2.
3 3 3
[T, =| -6 6 2
& 5 1
=
3 3 3
il =158 6 1
5 & B
4,

Question Number : 130 Question Id : 2307492245 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Let A be any 3 x 3 matrix then det (2A) =

Aes 3 X3 S5pP5 eondayso det (2A) =

Options:



. 8 det A

16 det A
=5

4 det A

2 det A

4

Question Number : 131 Question Id : 2307492246 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Let R be the field of real numbers which of the following 1s not a
subspace of the vector space R’(R)?

DO BOP.O FBD0E0 R H00Digod. B8 Bod aeB&P, R(R)
O DOTOTTOTDE GBEROBTEO TV HOT

Options:

w1={(x,2y,32)/x,y,z€ R)

1
w,={xy,2)/x+y+z=0,x,y,z € R}
w;={(X,y,2) /X, v,z € R}

3
w:={(x,y,0) /X,y e R}

4,

Question Number : 132 Question Id : 2307492247 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



The rank of the matrix A =

A= O RS CBwS, 5

Options:

4

1.

Question Number : 133 Question 1d : 2307492248 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

=9 4 &
Trace of the matrix A=| -8 3 4| 1S
—16 & 7
=
DPRS A= 8 3 4| BwY, & ( &0)
=38 8 ¥
Options:
2
1.
1



Question Number : 134 Question Id : 2307492249 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

0 0 3
The characteristic polynomual of the matrix A=|1 0 2| 1s
B 31 1
g 0 3
SPRS A=|1 0 2| B0, PSHS EVHO
g I ‘1

Options:

:
-3ty 2

e
=3t =2x—1
i
Y —x —2x—-3
3.

Y 42743

Question Number : 135 Question Id : 2307492250 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Let 0, 1 are the eigen values of a 2 x 2 matrix A. then
AAY+5A° —6A*+TA+]=

Aed a5 2 X2 58055 50550 0, 1 008 DensSen e9000me)Ed
JA*+5A —6A*+7A+1=

Options:

. 10I-A



10 I+A
3,

I-10A

, 1+10A

Question Number : 136 Question Id : 2307492251 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Which of the following 1s a characteristic vector of the matrix

7 4 -1
A={ 4 T -1|?
—4 —4 4
7 4 -1
58 800 aBH® HO A=[4 T -1|od D555 SRS HOT )BT
—4 -4 4
Options:
1
0
2
1.
0
—4



Question Number : 137 Question 1d : 2307492252 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

If the characteristic (eigen) values of a matrix A are 1, -2. 3 then the
characteristic of A* + 1 are

1.-2.3e0 A ood 5008550 oo5B5 Denden ( DHO DenDen) 9o
A’ + T 5085 B0s, REHS DenHen

Options:

2,5,-10

e

Question Number : 138 Question Id : 2307492253 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Let . B be any two orthonormal vectors. Then || a - ||=

. f Bo eoerpeon HOF0 ondR)@ || o —B|=

Options:
3 units
3 cSomedéSen

1 unit

21cﬁ133r"{)é5



J2 units
«E 50708 e

3 units
\E ASa0eD e
4

Question Number : 139 Question Id : 2307492254 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Let V be a real mner product space then which of the following 1s false?

where ScV

OO rﬁﬂaﬂaﬂ@m D V e @08y ep0s0etind @an82b0Hw. @)@
853 808 THS° HO ODBDHDOY VBB SV

Options:

oy =¥
V" =1{0}

bl
5 =

S*=TUS)
4.

Question Number : 140 Question Id : 2307492255 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

LEES = {0, 90, woonansin o oy be any finite orthonormal set mn an
inner product space V. Then which of the following statements is false?

V ed eosgeposoetiod® S = {01, 02, ............ Oy @0 88 HOS
©0EPPO0R DA VOEPHNDN. BB B8 SO DD HO DS 7

Options:



L(S)=V

1

f(B.ai)=0forl <i1<nthenP = 0

l<1=n% (B.0) =0 ewowad B =0
2

If peV then ﬁzi(ﬁ.ﬂi_}m

i=1

F el eonda)ta ﬁ:i(ﬁﬂf}a}.

3, &

If gev then Y 1(p.a)f = fIF
=)

peV eondHw@ > Up.a)f = |
4, e

Question Number : 141 Question Id : 2307492256 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

The third iteration to the root of the equation x* —x—1=0 in the nterval
(1.2) using bisection method 1s

D0OPOBD DRBE ¥ —x—1=0 o HEBLEPDS (1.2) @ostos?
H0G 0700008 0@ F)HBOB0

Options:

L1375

1

. B8

1.9

=

1.175
4,

Question Number : 142 Question Id ;: 2307492257 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



The convergence rate of Newton-Raphson method.

B0 S TP DB BB, DO Bd
Options:

4

1.

1.62

Question Number : 143 Question Id : 2307492258 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Which of the following is an iterative formula to find the mverse of
belN using Newton — Raphson method?

@O02.® Ton® DWBD LeN  BS, DHHPRY B PH@DS
SDDPNHOT PG H0B0 B8 8o TdBE? HOP

Options:

‘Tn+l = :'I.-E (‘2' = E}‘rn j

I ol (P
i

‘rn—l — ‘Iﬁ! (2 T b‘xn)

x2, =x.2—-b2)

Question Number : 144 Question Id : 2307492259 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



The lagrange linear interpolating polynomial which fits the following data

88 BOO BTODR), HDOGRDOT BTHPOE BPAZ OB WD VDO

X 1 3
t(x) 8 18

Options:

1 f(x)=6x+ 3

. f{x)=1+7x
f{xj=3+5x
3
flx)=4x+ 4
4

Question Number : 145 Question Id : 2307492260 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0

The first divided difference of f(x)= L using the points xg, x; 18
.

f(x)= = HAB0ASPDE Yo, X @0 DOLO)OBODABIHOD (FBODD
A

DOHE DejoeSss B0

Options:

N



Question Number : 146 Question Id : 2307492261 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Let A denotes the forward difference operator then the second
divided  difference f[ xg, x;, x2] =
[Here x; —x;; = h]

A DBBSD0D E36 HOBEHO HRDRYOBBEBDH0. 9,0 BOGSD DEpesss FS5H0
[ 5,8 x; —xiq = 1]

Options:
L ATf(xy)
2172 &
1.
gy
S F(xg)
=z,
LAy
31 "
=,
| S
m'ﬂf““j
4,

Question Number : 147 Question Id : 2307492262 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Letf(x;)=fiand x;-x,;,=h v 1 >1then A(fH=

fix)=1 @® xi-xi1=h Vv 1 >1 e 8B2H050 @m0 A=

Options:

{.}‘;4-1 _f;")‘&.f;—l

1



_ [j;ﬂ +.}‘:)'Af;

2

5 (f": _f;—l )Ebf;—l

, Vim 7

Question Number : 148 Question Id : 2307492263 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Which of the following 1s a multiple root of f(x) =e*—x -1 =07

B3 80O @BS8 f(x) =" —x — 1 = 0 H5o Hboeays Hoveeo HO?

Options:
=3
18
X =2
2,
X=1
=,
x={)
4

Question Number : 149 Question Id : 2307492264 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

If y = e* 15 a solution of the differential equation 1"+ P(x)v'+Q(x)» =0, then

1T+ P(0)V +Q(0)1r =0 od @550 HE050eD8 V= e a8 ar¢id @0

Options:

AP+ -1=0
, Piax)y+x0Qx) =0

, 1-P@+Qw) =0



, 1+P@+Q) =0

Question Number : 150 Question Id : 2307492265 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

;1‘6051’:
D+3D"
(Where D = ;. D = ;}
ox oy
"R
@56 D=—.D=—
% % 59,}

Options:

ysinx+3cosx

1
YCosx+3sinx
g
1 COSx—sinx
3

o Sin X —Cos x



